ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

	Jose Gaona		, hereby re	equest station ti	me as follows	: See Order	for proposed	
	schedule and charge	schedule and charges. See Invoice for actual schedule and charges.						
	Check one:							
	(1) a legally qualit issue of public imp subject of contro	ied candidate f oortance (e.g., h versy or discuss	for federal of lealth care leg lion at the na	y political matter o fice; (2) an election gislation, IRS tax coo tional level.	de, etc.); or (4) a p	political issue the	at is the	
	Ad does NOT control only to a state or	nmunicate a m local issue).	essage relati	ng to any political	matter of nationa	al importance (e	e.g., relates	
		ALL QUES	TIONS/BL	OCKS MUST E	E COMPLET	ED		
	Station time requested by:							
	Agency name: Red Pixel Mar	keting						
	Address: 415 West Wall Stree	t, Suite 2203						
	Contact: Jose Gaona	PI	hone number	432 205 0990	Email: J	iose@redpixelma	arketing.com	
	Name of advertiser/sponsor committees) with no acrony	(list entity's fu ms; name must	II legal name t match the s	e as disclosed to the sponsorship ID in a	ne Federal Elect ad):	ion Commissio	n (for federal	
	Name: Citizens For A Brighter	Future						
	Address: P.O. Box 4 Contact: Carrie Web 5-	354 0	dessa	Tx, 7976	0			
	Contact: Carrie Webs-	ter X Ph	one number	432-553-35	63 X Email: C	-webster a	olzegmail.co	
	tation is authorized to announce the time as paid for by such person or entity.							
	group(s) of the advertiser/sp	st ALL of the chief executive officers or members of the executive committee or board of directors or other governing roup(s) of the advertiser/sponsor (Use separate page if necessary.):						
1	Sara more							
I	Lisa wyman							
	Collin Sewell							
		signing below, advertiser/sponsor represents that those listed above are the only executive officers, members of the ecutive committee and board of directors or other governing group(s).						
ſ	If ad refers to a federal candi	date(s) or fede	ral election,	list ALL of the follo	owing:	V	N/A	
	Name(s) of every candidate re	eferred to:						
,	Office(s) sought by such cand	idate(s) (no acı	ronyms or al	obreviations):				
[Date of election:							
а	Clearly identify EVERY political (no acronyms); use separate Citizens For A Brighter Future			tance referred to	in the		TV/A	

attorney's fees, which may a ad(s), the advertiser/sponso	arise from the broadcast of the a	ess the station for any damages or liability, including reasonable bove-requested advertisement(s). For the above-requested , transcript or tape, which will be delivered to the station by the
Advertiser/Sponsor		Station Representative
Signature:	a L	Signature: Lindsey adams Name: Lindsey adams
Name: Jose Gaona		Name: Lindsey adams
Date of Request to Purcha	se Ad Time: 10/16/2023	Date of Station Agreement to Sell Time: 10/16/2023
	TO BE COMPLET	ED BY STATION ONLY
Ad submitted to station?	Yes No	Date ad received: 10/16/2023
	the same of the sa	lendums) for each version of the ad (i.e., for every ad with differing copy).
Accepted IN PART (nal officers, members or direct e.g., ad not received to determi reason (optional):	
	orm, then promptly upload upda	ated final form when complete.
Upload partially accepted for		
Upload partially accepted for partially accep	ips, if any: Station Call Letter	s: Date Received/Requested:
Upload partially accepted for Date and nature of follow-up contract #: 4224 st. #:	Station Call Letter KCRS-IAM Station Location: Odessa, Tx (not required for state/local	Date Received/Requested: 10/17/23 Run Start and End Dates: 10/19/23

THIS STATION DOES NOT DIS	CRIMINATE OR PERMIT DIS ERTISING.	CRIMINATION ON THE BASIS OF RACE OR ETHNICITY
attorney's lees, which may anse	from the broadcast of the ab	ss the station for any damages or liability, including reasonable ove-requested advertisement(s). For the above-requested transcript or tape, which will be delivered to the station by the
Advertiser/Sponsor		Station Representative
Signature:		Signature; - Lindsey adams
Name: Jose Gaona	A continue of the property of	Signature: Lindsey adams
Date of Request to Purchase A	d Time: 10/16/2023	Date of Station Agreement to Sell Time: 10/16/2023
	TO BE COMPLETE	D BY STATION ONLY
Ad submitted to station?	Yes No	Date ad received: 10/16/2023
Note: Must have separate PB-19 form		dums) for each version of the ad (i.e., for every ad with differing copy).
Disposition: Accepted Accepted IN PART (e.g., a	officers, executive committeers, members or director	
Rejected – provide reason Upload partially accepted form, to	· · · · · · · · · · · · · · · · · · ·	d final form when complete.
Pate and nature of follow-ups, if	mention reference on the application and their the applications are provided by the application of the applications are provided by the applications and the applications are provided by the applicat	
ontract #: 42221	Station Call Letters: KUHX-FM	Date Received/Requested:
t. #:	Station Location: Odessa, Tx	Run Start and End Dates: 10/19/23 -11/2-/2-3
r national issue ads only (not	required for state/local iss	
the OPIF or use this space to d d the classes of time purchased ach separately. If station will no	ocument schedule of time (including date, time, class t upload the actual times s	em print-out) or other material reflecting this transaction purchased, when spots actually aired, the rates charged sof time and reasons for any make-goods or rebates) or pots aired until an invoice is generated, the name of a y should be placed in the "Terms and Disclosures" folder

Confirmation



ICA Radio, Ltd. KCHX-FM * KCRS-AM * KCRS-FM * KFZX-FM * KMRK-FM P.O. Box 610062 Dallas, TX 75261-0062 432-563-9102

Contract #
Date Entered
Sales Person
Billing Cycle
Revenue Type
Conflict 1
Conflict 2
Contract
Comment

42221 10/17/2023 Richard Esparza Broadcast Cash Political - Issue Political - Issue 10/19/2023 - 11/02/2023

KCRS-AM, KCHX-FM / CITIZENS FOR A BRIGHTER FUTURE/ POLITICAL

CITIZENS FOR A BRIGHTER FUTURE C/O RED PIXEL MARKETING 105 N G ST SUITE 203 MIDLAND TX 79701

	Station	Date/Time	Schedule	Len	Avail Type	Rate	Qty	Total
1	KCRS-AM	10/16/2023-10/20/2023 06:00:00-10:00:00	0,0,0,2,2,0,0	00:30	Commercial	30.00	4	120.00
1	KCRS-AM	10/23/2023-10/27/2023 06:00:00-10:00:00	2,2,2,2,0,0	00:30	Commercial	30.00	10	300.00
1	KCRS-AM	10/30/2023-11/02/2023 06:00:00-10:00:00	2,2,3,2,0,0,0	00:30	Commercial	30.00	9	270.00
2	KCRS-AM	10/19/2023-11/02/2023 10:00:00-15:00:00	2,2,2,2,0,0 All Weeks	00:30	Commercial	30.00	22	660.00
3	KCRS-AM	10/19/2023-11/02/2023 15:00:00-19:00:00	2,2,2,2,0,0 All Weeks	00:30	Commercial	30.00	22	660.00
4	KCHX-FM	10/19/2023-11/02/2023 06:00:00-10:00:00	1,1,2,2,1,0,0 All Weeks	00:30	Commercial	22.00	16	352.00
5	KCHX-FM	10/16/2023-10/20/2023 10:00:00-15:00:00	0,0,0,1,1,0,0	00:30	Commercial	22.00	2	44.00
5	KCHX-FM	10/23/2023-10/27/2023 10:00:00-15:00:00	1,1,1,1,1,0,0	00:30	Commercial	22.00	5	110.00
5	KCHX-FM	10/30/2023-11/02/2023 10:00:00-15:00:00	1,1,2,2,0,0,0	00:30	Commercial	22.00	6	132.00
6	KCHX-FM	10/19/2023-11/02/2023 15:00:00-19:00:00	1,1,2,2,1,0,0 All Weeks	00:30	Commercial	22.00	16	352.00
						Subtotal	T	3000.00
						Agency Commission		450.00
						Total		2550.00

Station Summary	Count	Gross	Net
KCRS-AM	67	2010.00	1708.50
KCHX-FM	45	990.00	841.50

Projected Billing		Count	Gross	Net
October	2023	69	1854.00	1575.90
November	2023	43	1146.00	974.10
		112	3000.00	2550.00

Citizens for a Bright/Future Presented by CA RICHARD ESPARZA	Compart Mon Tue WED THU FRI SAT SUN SPOTS RATE TOTALS	Dates Daypart MON TUE WED THU FRI SAT SUN SPOTS TOTALS 6A-10A 1 2 2 2 2 9 22 198 19A-7P 1 1 1 1 1 1 1 100 100 100 Number of Weeks 2 2 2 2 2 198 100 100 100 Number of Weeks 2 2 2 2 2 198 100	T T SAT SUN SI	TOTAL	TOTAL
ICA Radio	K KCRSS THEVOICE OF WISS TRACKS	BUENA Kountry	100 July 200	Classic ROCK 102	